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Rermove["d obal ™ %" ]

P=2/64%2/36%1/6

1
324

N[%

0. 00308642

pl= 977213
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N[%
0. 455399

pl= 97 /148
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N[%

0. 655405

fIt_1:=22+16t +31t%;
glt_1:=21+10t +t?2
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Plot [{f[t], g[t]}, {t, O, 4}];
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Limt[gtj/frty, t -infinity]

ft_1:=2E"t;
glt_1:=1/2E"(t /2);

Plot [{f[t], g[t]1}, {t, O, 4}];
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Limtpgtj/frty, t->Infinity]
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rlg2=4/10% 3/9;
glr2=2/10% 4/9;
rlg2 +gir2

2

9
N[%

0. 222222

r1j2v3=r xj *v / (10%*9%8) ;
riv2j3=r *vxj /(10x9x8) ;
rlj2v3 ==r1v2j3

True
nF=r*vxj /(10%x9%8) ;
VF=rxn=%j /(10x9%8) ;

jE=r*nxv / (10%x9%8) ;
NF=r%jxv /(10%x9%x8) ;

p=6 (nNF+VvF+jF+nF)
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N[%

0. 566667

5. Treppenfunktion

Renmove["d obal ™ " ]
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hix_]1:=Sign[(Sign[x] +1)/2];
p[l]1=1/6; t[1] =0;

pr21=1/3; t[2] =2;

pr31=1/12; t [3] =3;

pL41 =1/12; t [4] =5;

p[5]1=1/3; t[5] =7,

FIx_1:=Sum[p[k] h[x -t [k]11, {k, 1, 5}]

FIx1]
1 . . 1 . .
§Sl gnil+Sign[-7+x]] +ﬁS|gn[1+S|gn[—5+x]} +

%Si gn[l+Sign[-3+x]] +%Si gn[l+Sign[-2+x]] +%Si gn[l+Sign(x]]

Pl ot [F[x], {X, -2, 9}];
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Tabl e[ {t [k], F[t [k]]1}, {k, 1, 5}1 // N// Tabl eForm

0. 166667
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